B A efip+ 87w
105#09* 30p (Xx1)

PR ERTET (e

o fi:-f- S
P i &5 B xEH
L ACY) 1,662,878 | 1,922,528
=i T FIRF A (B=1+2+3) 46, 360 39, 247
b &g A (D 0 0
s e 3178 (2) 7,836 85
B FAAR(3) 38, 524 39, 162
‘adp R (C=4-5+6+7+8-9) 346, 080 477, 508
e o (4) 318, 184 457,178
e g LEF L NI A e R R £ 2 37(5) 0 0
ERA - F A()) 14, 824 18, 663
RS- EA)) 233 7
Tl r FipuEg(8) 12, 839 1,590
N WF R fpip (A - AT AX B P pAZ N RBER EL T 0 0
7 F £ (D=A+B-C) 1,363, 158 | 1,484, 267
BV RERTAGHEVNEI P BHESAREZHABLAERT R ¢ B EART A~ B HAZ2 2D
2:2ﬁ3@&é%%%@“%ﬂwiﬁm$‘;H%ﬁv%%:ﬁﬁ§%~ﬁ%%ﬁ£~%ﬁ%§%\%ﬁ
FREES LB RGN AN ERE AR A B TR RBER £230
JIFHFTAEGHERE R EE N BN TVRRFT AL D FH R G2k BAFER IR RT
2R & o
- ~1058R#£29730p 2 MR EPHT I (H:FR)
£ 4 # P LS S
(DH* g 612, 524
(2)PR3%7 * 194, 893
(DH#L 2 * 55 57, 835
(e g & 414 18,416
(5)A7 ¥, ~ 474 & #sl 178, 970
(B)fedr & s (a4l ) 1,014
F LIPS N AP EA ~ A B
Ol e 64, 208
(8)7mh ~ P 1f 2 %t 4 145
(DHE (k) 5,530
E¥PLiNr g &3k 1,133,535

SN TEFYFE PARPREFLAERT] R T

O©Tv*F&  PDREFRY A4 £FFH4121,109F ~ > 1 & 37 :

T

I-H>

1 &

o
=
ﬁ

QW x TEl 7 RRFE, B4 £FEROTUBF AR (T2 T4, £

7‘“}
oy
=

(e

(DA TEP FHRE G, R BFEH 13,428~ > R T7* F &




